
Ago POS BIT QUANT COMPRIMENTO
UNIT TOTAL
(cm) (cm)

V 1 =V7 (X2)

V3 V5 50/ 1 8 4 315 1260
1300
2940

1 4X25 1 4X50 1 4X50 50A 2 12.5 4 325
Corte ACorte A Corte A 60B _3_ 42 70

V21 414 1 681 4289 560B 2 365 730176•O rd 1 121 45
CM

50A 2 8 125 500-4 I'M2 N1 0 8
C=315

75 -i-1 1 2 50A 3 12.5 2 556 1112
1 100
1155

4 2 N2 0 8
C= 1 25

2 N4 0 12.5 C=350n 560B 4 4 2752 N5 0 5
C= 180

4 s2 N2 0 8
C= I 25

2 N3 0 12.5 C =567 12.550A 5 3 385
2 N3 0 5

C= 1 654 12.550A 6 ' 265 265810 1 12 1 12 1050A 7 2 555 1 1 1077
(1 0 2oCAM )~f 90< id d 560B 8 2 325 65077 - 3QC105 2 N6 0 10 C=350 2 N2 0 8

C= 1 25
2 N2 0 8

C= 1 25
2 N1 0 5

C =220
50A 9 10 235 235'

CM
2 N 1 0 5

C=335
560B 10 2 105 2101 N4 0 12.5 C=2652 0 8 10 12.5<0 50A 1 1 2 350 70010 < ~\ 12.550A 12 2 660 1320

1804< 1050A 13 2 9022 0 12.5 21 N3 0 5 C=70 1050A 345 34514
$ 50A 15 10 2 898 1796Uj>u V9 P1 4 1050A 16 2 340 680

<H 1050A 17 2 1012 2024
2040060B 18 170 120

21 0 5 C/12 V3I 60B 5 2 335 670N3 (251) 43 N7 0 5 C= 1 20 50A 2 8 125 50079 N1 1 05 C= 1 20
2 0 8 3 0 10 2 0 12.5 2 0 12.5 2 0 10 2 0 8 50A 3 12.5 2 567 11342 0 8 3 0 12.5 3 0 12.5 2 0 10 2 0 12.5 2 0 12.5 2 0 10 2 0 10 2 0 10 2 0 8

jX289 50A 4 12.5 ' 265 265
CM

P37 P38 P39 6QB 5 5 2 180 360<P23 P24 P25 P26 P272 N2 0 12.5 C=325 <
<H

50A 6 10 2 350 700
50A 7 12.5 2 685 1370
50A 8 12.5 395 395

22 0 5 C/20 21 0 5 C/2020 0 5 C/20 14 0 5 C/15 10 0 5 C/20 1605 C/20 1905 C/20 50A 10 2 580 11609
N7 (431) N7 (401) 50A 10 10 2 460 920

N 1 1 (388) N11 (195) N11 (198) N11 (301) N 1 1 (376) 6QB 11 5 79 120 9480

V44 44| 8 340 560B 1 2 365 730
850A 2 4 125 500

1 N6 0 10 C=3701 N8 0 12.5 C=395 12.550A 3 2 560 1120
20 560B 2 285 570868d dO 60B 5 5 2 185 370645 430

12.550A 6 2 415 8302 N5 0 10 C=9302 N9 0 10 C=5802 N7 0 12.5 C=685 2 N10 0 10 C=460 12.550A 7 ' 265 265

V2 1050A 8 2 489 978
1 4X50 560B 9 2 260 520

1050A 10 2 484 968
60B 5 2 150 3001 1

12.550A 12 2 660 1320Corte A 12.550A 13 ' 385 385139 184 137 153
1050A 14 2 315 630112 1 4 12.550A 15 2 657 1314

1 104
1520
1240

19680

d
4 2 N2 0 8

C= 1 25
2 N3 0 12.5 0=556 2 N5 0 12.5 C=385 2 N7 0 10 C=555 2 N11 0 12.5 C=350 1050A 16 2 552

133 76 50A 17 10 2 760
1050A 18 2 6201 19 125 1 12 _5_60B 19 164 120

77 2 N4 0 5
C=275

2 N 10 0 5
C= 1 05

8 V5
2 N1 0 5

C=365
2 N4 0 5

C=275
60B 1 5 2 220 4401 N6 0 12.5 C=265

(1 0 2aCAM)
1 N9 0 10 C=235

(1 0 2aCAM) 50A 2 8 125 5004
1 1 2 60B 3 5 2 165 330x

4 50A 12.5 2 350 70041 1 9 2 N8 0 5
C=325

2 N2 0 8
C= 1 25

1 0 50A 5 10 2 930 1860< 4 50A 6 10 ' 370 370
60B _7_ 5_ 43 120 5160

V6to

560B 1 2 245 490
850A 2 2 125 250

2 0 12.5 50A 3 12.5 2 390 780
12.5 2 54550A 4 1090
1050A 5 2 235 470

_5_170 N 1 8 0 5 C= 1 20 60B _6_ 33 120 3960

V8
2 0 8 3 0 12.5 2 0 12.5 2 0 10 2 0 12.5 3 0 10 3 0 12.5 3 0 12.5 3 0 10 2 0 10 2 0 10 3 0 10 3 0 10 3 0 10 2 0 12.5 2 0 12.5 2 0 10 2 0 8 50A 8 2 330 6601

1050A 2 2 345 690
PI 5 PI 6 P 1 7 PI 8 P 1 9 P20 P21 P22< BOB J3 1 5 1 20 1000

<4 V9
50A 10.5 2 500 10001

1905 C/20 1395 C/15 13 0 5 C/20 19 0 5 C/20 13 9 5 C/15 13 0 5 C/15 19 0 5 C/20 13 0 5 C/2Q 29 0 5 C/2Q 19 0 5 C/20 50A 2 10 2 420 B40

7 7 7 60B _3_ 5 20 120 2400
N18 (374) N 18 (187) N18 (251) N 1 8 (374) N 18 (187) N1 8 (187) N18 (374) N1 8 (251) N 1 8 (561) N18 (361)

V10
1050A 1 2 460 920
1650A 2 2 475 950

47 86 105 101 1650A 3 295 295
_5_60B 32 70 2240

1 N5 0 12.5 C=385 1 N1 4 0 10 C =345 1 N16 0 10 0340 1 N16 0 10 0340

29 1 Z. RESUMO AQO CA 50-60o 620 to
CM987 AQO BIT COMPR PESO

2 N13 0 10 09022 N12 0 12.5 0660 2 N15 0 10 0898 (m) (kq)2 N 1 7 0 10 O1012
560B 753 120
850A 42 17

1050A 224 141

V4 12.550A 178 178

1 4X50 1650A 12 20

Peso Total 60B = 120 kg

Peso Total 50A = 356 kgCorte A1 oo
1 42 206

1 1 2 1 1 2 14
'4 102 N9 ® 5

0=260
-I =2 N2 0 8

0=125
2 N5 0 12.5 0=560 2 N6 0 12.5 0=415 2 N2 0 8

0=125
_9_LI 24

122 5125 2 N 1 0 0 10 C=484=77 2 N5 0 5
0= 1 852 N1 0 5

0=065
2 N 4 0 5

6=285
1 N7 0 12.5 0=265
(1 0 2aCAM)

70I 19

<h
2 N11 0 5

0 = 1 50
< 102 N8 0 10 0=489

CO

2 0 12.5 2 0 10 2 0 10

164 N19 0 5 C- 1 20
2 0 8 3 0 12.5 2 0 12.5 2 0 10 2 0 12.5 2 0 12.5 3 0 12.5 3 0 12.5 2 0 10 2 0 10 2 0 10 2 0 10 2 0 10 2 0 10 2 0 10 2 0 10 2 0 10 2 0 8

P28 P29 P30 P31 P32 P33 P34 P35 P36<

<H
1905 C/20 13 0 5 C/15 13 0 5 C/20 20 0 5 C/20 13 0 5 C/15 24 0 5 C/20 1105 C/20 24 0 5 C/20 12 0 5 C/20 15 0 5 C/207 74 i7 N 1 9 (374) Ml 9 (187) N 1 9 (251) Ml 9 (387) N 1 9 (194) N 1 9 (477) Ml 9 (208) N 1 9 (460) N 1 9 (233) N 1 9 (298)

; 47
1 7 22

45951 N 1 3 0 12.5 0=385
2 N 1 4 0 10 0=315 2 N1 6 0 10 0= 552 2 N 1 8 0 10 0=620

244 19
a 620

2 N 1 2 0 12.5 0=660 2 N 1 5 0 12.5 0=657 2 N 1 7 0 10 0=760

V6 V8 V9 V1 0 1 4X251 4X50 1 4X50 1 4X50Corte ACorte A Corte ACorte A Corte B
1 41 4 418 1 41 1 2 354 14 1 4306 434COCOd r . CM n

01 -I 1 = eCO CO =2 N 1 0 1 2.5
0=500

2 N2 0 8
0=125

2 N3 0 12.5
0=390

2 N1 0 8
0=330

2 N1 0 10
0=460

ix.
i0 'A I

B Bf 2 N1 0 5
C=245

<8 877 10
m<

CM
1010< 2 0 8 10 10 2 0 10

gv
32 N4 0 5 C=702 0 12.5 2 0 12.5 2 0 12.5to(£>

3 0 16CO2 0 12.5
V7 V12 0 10

P42 P1 4<
P28 P 1 5< 2 0 1 2 * 10 0 10

13 N3 0 5 0=1202 0 8 2 0 12.5 2 0 12.5 2 0 10 33 N6 0 5 0=120 32 6 5 C / I 217 N3 0 5 0=120P41 x< 3 N3 0 5 0=1201385 C/20 <4 <4 N4 (380)P39 P40 P41< N3 (252)<pJ 42p 5 C/120 I
N*3 (50)* ’

14 0 5 C/20 I 3 *5C420mNJ (46)"
3

4 4305 N3 (268)24 6 5 C/20 905 C/207 1 N 3 0 16 0=295N6 (464) N6 (168) 2 N2 0 10 0=345

4332 N2 0 10 0=420 C I 1 .
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2 N4 0 12.5 0=545

2 N5 0 10 0=235
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